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Topic:- General English

1) Out of the given four sentences, choose the one which is grammatically
correct.

1. The children have been watching this channel since morning
2. The children has been watching this channel since morning
3. The children has been watching this channel for morning

4. The children has been watching this channel from morning

Correct Answer :-

« The children have been watching this channel since morning

2) Out of the given four sentences, choose the one which is grammatically
correct.

1. She rose from her chair to welcome us
2. She has rose into her chair to welcome us
3. She have risen to her chair to welcome us

4. She have rose from her chair to welcome us

Correct Answer :-

e She rose from her chair to welcome us

3) Out of the given four words only one is spelt correctly. Find the word that
is correctly spelt.

1. Seprate

2. Soldeir



3. Semester

4. Sincerly

Correct Answer :-

« Semester

4) Out of the given four words only one is not spelt correctly. Find the word
that is not correctly spelit.

1. Medicine
2. Marriage
3. Mathematics

4. Minnstry

Correct Answer :-

e Minnstry

5) DIRECTIONS: Fill in the blank with the correct Preposition.
I could see the clear view of the sea the cliff.

1. from

2. among

3.into

4, for

Correct Answer :-

« from

6) DIRECTIONS: Fill in the blank with the correct Preposition.
I worked the girl’s dormitory for a week.

1.on

2. into

3. beneath

4, at

Correct Answer :-



7) DIRECTIONS: Fill in the blank with the correct article.

The well trained team rescued everyone after earthquake.
1. No article required

2. the

3.an

4. a

Correct Answer :-

« the

8) DIRECTIONS: Fill in the blank with the correct article.
I play piano.

1. No article required

2. the

3.an

4.a

Correct Answer :-
e the

9) DIRECTIONS: Out of the given four options, choose the correct
conjunction to fill in the blank given in the sentence.

Everyone in the office complains that she smells awful, nobody
dares mention it to her.

1. hence
2. but
3.and

4. because

Correct Answer :-

« but

10) DIRECTIONS: Out of the given four options choose one to join the two
sentences given below to make a meaningful sentence.



Michael loved sports.

Julio preferred to read a book.
1. Else

2. And

3.0r

4. While

Correct Answer :-
« While

11) DIRECTIONS: Out of the given options, choose the most appropriate one
to fill in the blank.

Thomas has lived in Paris for years. His French very good.
1. must not be

2. must

3. must have

4. must be

Correct Answer :-
« must be

12) DIRECTIONS: Find the word which can be replaced for the given
sentence.

Special honor or respect shown publicly.
1. Homage

2. Abuse

3. Script

4. Criticism

Correct Answer :-

13) DIRECTIONS: Find the word which can be replaced for the given
sentence.

Of the same kind or alike.



1. Transparent
2. Heterogeneous
3. Homogeneous

4. Specimen

Correct Answer :-

« Homogeneous

14) DIRECTIONS: In the given sentence there might be an error. Find out
which part of the sentence has an error. If there is no error, mark your
answer as (d) i.e. ‘No error’.

He went (a)/ to the party last night, (b)/ did he? (c)/ No Error (d)
1. (a)
2. (b)
3.(d)
4. (c)

Correct Answer :-

15) DIRECTIONS: In the given sentence there might be an error. Find out
which part of the sentence has an error: If there is no error, mark your
answer as (d) i.e. ‘No error’.

France is (a)/ smaller then (b)/ Russia. (c)/ No Error (d)
1. (a)
2. (b)
3.(d)
4. (c)

Correct Answer :-

16) DIRECTIONS: A sentence with an underlined idiomatic expression is
given. What is the meaning of the idiomatic expression ‘back to square one’
in the sentence given below?

We lost our appeal of the lower court decision, so back to square one.



1. reach the climax or topmost position
2. None of the above
3. back to the beginning or to the starting point

4.in a linear form

Correct Answer :-

« back to the beginning or to the starting point

17) DIRECTIONS: A sentence with an underlined idiomatic expression is
given. What is the meaning of the idiomatic expression ‘A snake in the grass’
in the sentence given below?

It's upsetting to learn that someone you once viewed as a good colleague is
in fact a snake in the grass.

1. someone on whom you can place absolute trust
2. someone who pretends to be your friend while secretly does things to harm you
3. someone who is as quick as a reptile, and does everything in minutes

4. None of the above

Correct Answer :-
« someone who pretends to be your friend while secretly does things to harm you

18) DIRECTIONS: A sentence with an underlined word is given below. Find
the Word which is most similar in meaning to the underlined word.

We usually go abroad for a week in May.
1. village

2. native

3. inhabitant

4. overseas

Correct Answer :-
e oQverseas

19) DIRECTIONS: A sentence with an underlined word is given below. Find
the word which is opposite to the highlighted word from the given options.

Conflicts between parents and children become more frequent when the
children become teenagers.



1. Fights
2. Tussles
3. Agreement

4. Disagreements

Correct Answer :-

« Agreement

20) DIRECTIONS: A sentence with an underlined word is given below. Find
the word which is opposite to the highlighted word from the given options.

The role of the extended family has been decaying for some time.
1. rotting

2. flourishing

3. damaging

4. ruining

Correct Answer :-

« flourishing

Topic:- General Science

1) Sodium hydroxide turns phenolphthalein soIution/?’l’lﬁ'ﬂ'l’ﬁfE'I'E'z?ﬁ'\‘l'l%?.»r
PR faaaa &) frd T sgaarg?

1. Pink/Telrall
2. Yellow/dtal

3. Colourless/3TgH
4. Orange/ARl

Correct Answer :-

« Pink/Taral

2) Secretions of endocrine glands are called-/ 3: TG AfRAYT & TATIU B Pl

8
1. Hormones/ E'ﬁﬁq
2. Catalysts/ SR®



3. Sugars/ QH
4. Enzymes/ T~IISH

Correct Answer :-

« Hormones/ §AM

3) Deficiency of vitamin A results in-/ faaifiE A &Y &+ &1 ufoma 8-
1. Beri-beri/ §-skt

2. Rickets/ f\’av?ﬂ

3. Night blindness/ Tareht

4, Scurvy/F:b_qgf

Correct Answer :-

« Night blindness/ Tareht

4) Alternating current cannot be measured by dc ammeter because:/ few umr

& o g anfier & gIRT yaTad! YRT 98Y 917 9hd €, wife:

1. Average value of complete cycle is zero/@%?%ﬁwmwmwm%

2. AC cannot pass through dc ammeter/JdTad! 4RI, ® e I yared 781 8 Il §
3. AC changes its direction/Jdrad &RT 30+ fa=T gardt §

4. AC is virtual/Jdmadf YRT HTeufe g

Correct Answer :-
« Average value of complete cycle is zero/@%?%ﬁwmwmwm%

5) We get CO, from sugar by the action of-/ T A CO, I gl 3-
1. Fungi/ ®a% 4

2. Bacterial/ Sitaro] 9

3. Algae/ ard I

4. Virus/ fawmo 9
Correct Answer :-

« Algae/ Qa9



A spring balance is used for measuring-/ & {81 dgad 9 & 7109 & yge gian

1. Weight/ R
2. Speed/ dld
3. Acceleration/ «d<Ul

4. Mass/ GTHA

Correct Answer :-

e Mass/ gHHH

7) An aqueous solution with pH = 0 is:/ pH = 0 & 1Y U& SeiiY faera— 8:
1. Neutral/dc¥®

2. Weakly acidic/ﬂx_rﬁ? 3T

3. Strongly acidic/WGFFﬂH

4, Strongly basic/Hsidd &R

Correct Answer :-

« Strongly acidic/HsTed =i

8) It transport the water & minerals from root to leaves in plants-/ Ui #§ ga
 ufral a6 ia quT @it ufvafed o 8-

1. Xylem/ SIgddH
2. Stomata/ I

3. Cambium/ QT

4. Phloem/ tl%ﬁ@

Correct Answer :-
o Xylem/ SIgddH

9) Which organelle acts as the suicidal bag of the cell?/ 79 & 9 {9 SifRm®i
P ATATET Aeht FHaT oTaT 872

1. Centrosome/ ?I-_@@T[
2. Ribosome/ IS8 H
3. Lysosome/ SIEGIRIE



4. Mitochondria/ HATgci® a1
Correct Answer :-

« Lysosome/ SIER3IRIEE]

10) Which of the following is incorrectly matched? / fFgfaf@a & d S19-ar 3fa
e A Ad TE 72

1. Aut sting - methanoic acid/ 3ife f&7 - Adis® thrs
2. Citrus - citric acid / 93¢ - 93fds Thig
3. Curd - lactic acid/ &I - dfde® TS

4. Tomato - tartaric acid/ @HICR - ¢ TRIE

Correct Answer :-

. Tomato - tartaric acid/ THICR - ¢ TRIE

11) Which of the following is purest form of carbon?/ freafafeada e ar
FIa BT TG Y& FU 82

1. Charcoal/dR®Id
2. Fullerene/ BeRiA

3. Diamond/é’RT
4. Graphite/ J®Ee

Correct Answer :-

« Fullerene/ BeRH

12) Small intestine have this to increase the surface area for absorption-/

DI 3 A Jraiiavr & g wadt &7 9 3 §aT 8-
1. Glands/ 9Tl

2. Villi/ TP

3. Liver/ dopd

4. Pancreas/ YR

Correct Answer :-

o Villi/ THHR



13) Adding a soluble metallic salt to water-/ Wﬁﬁﬁgﬂﬂ?ﬂﬂ HTfa® THS fra™
W-

1. None of these/s_rlﬁ@fﬁ's‘ﬁ
2. Increases its electrical conductivity/ 39! fagad aTasdl el o
3. Never produces any change in the conductivity/ 39! aTaddl | i GRded g gidl

4. Decreases its electrical conductivity/ $Hch“| falqu dlcThdl ‘az?ﬁ%

Correct Answer :-

« Increases its electrical conductivity/ s%ldvnl Iragf-{d EINEX] d(f_:dnl %

14) A particle is travelling with a constant speed. This means-/ T®% &0l Tdh
e arer & |y nif 3% 81 @ 3@ od 8 fop-

1. Its acceleration is zero/SﬂWWQj}q%

2. It covers equal distance in equal interval of time/ dg JHIH FHITRTA H FHH gilawlau

Hc g

3. Its position remains constant as time passes/ T8I ToRA & 1Y 391 fRUfd fAad s+t X
gl

4. It does not change its direction of motion/ Ig 3U+1 7Tfd &1 fa=I T8l daadr

Correct Answer :-

. It covers equal distance in equal interval of time/ g THM THATIRIA! § THM gdi ad
TGRS

15) Example of an amphoteric oxide is:/ 3¥hIR® 3iTFTZS fPIUHT ISEIU 82
1. NayO
2. MgO
3. ALO3

4. K;0

Correct Answer :-

16) Diffused reflection occurs if a ray of light is reflected by a-/ f3¥f¥a Wad=
"fed giar 8 afe ue ue=r fhvor wrafda g-

1. Plane mirror/“v'l'ﬁl?lﬂ?{CfUTﬁ

2. Convex mirror/B?iFTE{CfUT@r



3. Rough surface/ @Yl Idg ¥
4. Concave mirror/ 3/@dd guur I

Correct Answer :-

« Rough surface/ ¥Rl Idg

17) The lightning occurs due to ./ Taorelt &1 THeTE A9 & PR ElaT 8-
1. Thunder/ STeell & TR J

2. None of these/ S8 I ®Ig g

3. Static eIectricity/T@Rﬁ@'&ﬁ

4. Dynamic electricity/iTl%lQﬂFrﬁgﬁlﬂ

Correct Answer :-

. Static electricity/ RR fagad

18) Kilowatt is the unit of:/ ﬁﬁﬁﬂvﬁm%
1. Momentum/ﬁaﬂaﬁ

2. Power/ XIfad &1

3. Force/ & &l

4. Energy/ﬁﬁaﬁ

Correct Answer :-

. Power/ﬂf?ra?[

19) The energy possessed by wind is-/ WW?@@WWW%—
1. Potential energy/f@ﬂ%\_ﬂﬁﬁ

2. Sound energy/ @ JHal

3. Thermal energy/ AU Sl

4. Kinetic energy/Tri%ITrrB'_wﬁ

Correct Answer :-

. Kinetic energy/ TIfas Sl

20) CANCELLED



Animals which give rise to more of less developed young ones are called:/

=g <N Siftre a1 %4 fasfid a2 &1 3ud #ed §, Fead o-
1. Parthenogentic/ 3G

2. Oviparous/ 3{USUSIH

3. Viviparous/ ﬁTQICIW
4. Ovoviviparous/ 3{USRIYMSTH

Correct Answer :-

« Ovoviviparous/ USRS

Topic:- General Knowledge

1) Pratap Singh Baghel who passed away recently was a renowned :/%1d

AU R s g rag 92
1. Singer/TMg%

2. Painter/fEeR

3. Politician/SIHITaR

4. Actor/&rﬁ-lﬁﬂT

Correct Answer :-

. Politician/ilﬁﬁ fas

2) In which year was the Sahitya Parishad established in Madhya Pradesh?/

Ty § aifge uivueg fora ad & wifia g8 A2
1.1956
2.1957
3.1954

4. 1955

Correct Answer :-

3) In which year was Bhopal district carved out of Sehore?/ ek T Hiure forar
DA GYD g3l UT?

1.1973

2.1974



3.1971
4,1972

Correct Answer :-

« 1972

4) Where was the 2-days South Asian Speakers’ Summit organized

recently?/ gTa g1 # 2-f¢a<ita aféror gRrars aeansii & Twie &1 smie o1 41?
1. Indore/ E'EﬁT

2. Bhopal/ T

3. Gwalior/ TaTfeRR

4. Ujjain/ I

Correct Answer :-

o Indore/ 3@?

5) Which of the following is the most commonly sighted carnivore in Madhav
National Park?/ fFafefad & & o19-u1 aiaeRt Arye Ity o  gad surer feers ¢arn
22

1. Tiger/ &Y

2. Leopard/ ag&rr
3. Wolf/ Hf&ga

4. Lion/ IR

Correct Answer :-

« Leopard/ a"gaﬂ

6) Which of the following Rajput clans had ruled over Madhya Pradesh?/f"¥%
TeTYd d=N 6 A fHa= geg weRT U = foar 32

1. Chalukya/<TdH
2. Pala/dralt

3. Surya/ﬁ'&ﬁ
4. Ratt/3«

Correct Answer :-

« Chalukya/dTdHd



7) Which of the following types of handicrafts is/are famous in Madhya

Pradesh? /{&d YR &1 gxafRred Aeuey # faeimd 82
1. None of these/37H ¥ g o

2. Glass Work/ /&1 &1 ST

3. Terracota/cXIIcl

4. Both of the above/IWRIad &l

Correct Answer :-

« Both of the above/mﬁlﬁﬁ

8) Which of the following schemes was renamed as Pratibha Vikas

Programme?/5d o1 &1 99 Jeas: ufayT A aier g faar mar?
1. Dakshata Samwardhan Programme/a&Wﬂ.ﬁﬁﬁEﬁW

2. Continuous and Comprehensive Evaluation Programme/m&mﬁgm

SdeqURH U
3. Learning Enhancement Programme/ﬁ@ﬂﬂ?m
4. Laadli Lakshmi Yojana/ﬂ]@?ﬁﬁ&*ﬁlﬂw
Correct Answer :-

. Dakshata Samwardhan Programme/c&idl a4 tium

9) Which of the following are tributaries of the Chambal?/ Frafafea # 9 F1-d@
I} S9d F TeH® Al 82

1. Jamni/ St
2. Kuno/ T—ﬁ
3. Halali/ gefrell
4. Ken/ &

Correct Answer :-

« Kuno/ Trﬁ

10) Who among the following are noted painters from Madhya Pradesh?/

fFafafad # 9 v uedw & g R s &2
1. Asgari Bai/GﬁlﬂﬁEﬂ'sc



2. Habib Tanvir/gld ddR
3. Satyadev Dubey/ddcd gd
4. Magbool Fida Hussain/ﬂaﬁam@q

Correct Answer :-

« Magbool Fida Hussain/WmT@q

11) Sanjha is a traditional folk music in the region of: / I5 f&g &3 # uRuR®
e T g2

1. Bundelkhand/ §eadie

2. Chitrakoot/ feFde
3. Nimar/ [Har8

4. Malwa/ HIddl

Correct Answer :-

« Malwa/ HIddl

12) The Anandam scheme has been launched by the state to help the:/ Id
TR Y B 18 GH FIoHT ®1 IR=3ATd fhas! Teradr & o #1 78 82

1. Entrepreneurs/ Igterl
2. Athletes/ Q’?-IFﬂ'c'

3. Disabled/ fa@aiT

4. Poor/ TRI9

Correct Answer :-

« Poor/ R

13) The Bagh river with a high content imparts a richness and
brightness to the colours derived out of vegetable and natural dyes, which is
used in the traditional Bagh print: /ST 94! & W Ufd & ¥ T T 3R
W%m'cﬂrﬂr 3R TP fa® T U Hd! §, Sl B WIRNTd a1 & ard fiie & Suai fHar
CIGIE

1. Iron/Fﬁ%T
2. Sulphur/7ig®

3. Copper/didal

4. Aluminium/TegdifAag



Correct Answer :-

« Copper/didl

14) The grand Pashupatinath Temple is situated in the town of:/Ha UgUfa=Ty
HfeR frw wge A R 82

1. Khajuraho/ 99} gl
2. Gwalior/ e’
3. Rewa/ Jar

4. Mandsaur/ HeaR

Correct Answer :-

« Mandsaur/ HgaR

15) The Jal Mahotsav takes place at:/ WWW’WW%’
1. Hanuwantiya/ gdfaan

2. Bhopal/ T

3. Gwalior/ TTfeRR

4. Madhai/ Higs

Correct Answer :-

« Hanuwantiya/ gJdfaan

16) The influence of the Mughal Rule weakened in Madhya Pradesh since the

death of:/fFa®! g & 91¢ A A US| GITd T HHSR 32
1. Jahangir/ﬂ"s’i"ﬂ?

2. Aurangzeb/G?ITfI@H

3. Akbar/3{®sR

4. Shah Jahan/ITgTg!

Correct Answer :-

. Aurangzeb/3RTo

17) The Ken River linking project had got the Signal from the Green

Panel and the Tribal Affairs Ministry. G qﬁﬁsﬁwﬁuﬁﬁwﬁsﬁq
99 3R ST ATHE & Tt | Ry fiar



1. Chambal/ I€d
2. Betwa/ Sdar
3. Narmada/ :lffaT

4. Tawa/ ddl

Correct Answer :-

. Betwa/a?liﬂ
18) CANCELLED

Where did Pt. Vishnu Narayan Bhatkhande establish the Madhav Music
College? /4. faw] ARTIU YTGEUS A ATUT HId Bicrsl Dt MY H Dt A2

1. Indore/3ER

2. Bhopal/ﬂ-ﬁ'CﬂFf
3. Gwalior/TdTferR
4. Ujjain/IH
Correct Answer :-

« Gwalior/WIeraR
19) CANCELLED

In which of the following districts of Madhya Pradesh is Asia’s thickest coal

seam located? /9 YW & FFuferad foral & @ #19- 4 e & vlRr &1 999 o+t s 31
_Ra fRag?

1. Sidhi/eh
2. Shahdol/<TgSd
3. Umaria/SHRAr

4. Satna/dd-l

Correct Answer :-

« Sidhi/deh
20) CANCELLED

Which of the following is an important slate producing district?/ 9 # 4 ®14-
T TH HeayUl Al SRRD STGH foreT 82

1. Betul/ Sqd



2. Gwalior/ TaTfeliR
3. Rewa/ Jdar

4. Mandsaur / dldrdic

Correct Answer :-

« Mandsaur / dIdMdlC

Correct Answer :-



4) ‘gAATe! fafy urgad a1 R & g Uy, FRraufa =g 38 S oftu Seer- ufe A 8
1. 3 DR
2. GEIfad SAdR
3. IEhITaRT SADR

4. AfARANTET 3TPR

Correct Answer :-

5) AT TSITT YBTAR BT AT B :

1. 9¢-d@ DR d1d HRAT
2. ST gl

3. SH AR HRAT

4. 3o it

Correct Answer :-

. Iad gt

6) ‘Fa¥ WS FT AT TE B
1. 3R
2. 3G

3. G
4. T

Correct Answer :-



4.8

Correct Answer :-

D

2. [d14HdIdon ]

4. PRU-BT Y TR

Correct Answer :-

. VYRS =T

Correct Answer :-

. Iad gt

10) ‘3R GH WX 1Y IEhT af g Jlaem erfr- area 8
1. RRES T
2. QINdn dlay

3. fAYTTaa®

4. b a1 aTR

Correct Answer :-

. Jbharde a1
11) gy HI AT AT :
1. TR



2. ARAfdH
3, R
4. heydl

Correct Answer :-

12) ‘Supervisor’ @I %‘cﬁ UTRHIN® U % :
1. THA&D

2. U&feh

3. %81

4. dl&fh

Correct Answer :-

. THa&H

13) yfafdfer I A ywa g :
1. faiferd

2.%d

3. foa

4.d

Correct Answer :-

14) éw%w%qa?mhgww%mlwmqﬁaﬁhwm%ﬁﬁm’
¥Go:

1. ORI
2. 3cxdledl
3. TS
4. Qg0

Correct Answer :-

. IR3T



15) f e ARy IR T UFRE ST ? :
1.y

2. HedR 9

3. 3@ I

43R

Correct Answer :-

16) s3I fra S F wfa g :
1. et
2. §ad!
3. gUdt
4. OTerd!

Correct Answer :-

17) fafafaa o faaw sg-gu =8 8
1. X p-H&

2. 3IG-3fHd

3. STerI-farfert

4. aRf-uft

Correct Answer :-

18) FaffRad g a8

1. BUR R1&f® U% B g

2. 7 3O ST T WHIHRU HRA & ol TR B
3. T U T qh ITb1 il S|

4. 98 B 30 W AR IR



Correct Answer :-

. TR R1&® Uy I &

19) FaffRT i gET= ?:
1. R

2. T

3. Jsaferd

4. fafufdyer

Correct Answer :-

20) fagferiea & qurefya fRende Te-gm T8 e
1. H[hR-3{[hR

2. 3TTs-dTTg

3. 3M1fg-sMdi

4. 3fafy-sradt

Correct Answer :-

Topic:- General Maths

1) DIRECTIONS: Find the wrong term in the given number series:/ﬁﬁ's{r: 7:&3‘5‘
H@ 4oft § Terd ug i S

48, 24, 72, 34, 108, 54

1. 54

2.108

3.34

4.72

Correct Answer :-



2) A rectangular plot has an area of 560 m2. If the length of the rectangular
plot is 20 m, then find the perimeter of the rectangular plot:/WaﬂWﬁaﬂ

®1 &% d 560 H2 g1 afe AgM it dars 20 . 7, @ A &1 ufkmmg 3| Sifm:
1.92 m/92 H.
2. 88 m/88 H.
3.90 m/90 .
4.96 m/96 HI.

Correct Answer :-

« 96 m/96 HI.

3) 10 women can complete a work in 7 days and 10 children take 14 days to
complete the same work. How many days will 5 women and 10 children take

to complete the work? /10 URANE Te &1 Y 7 a7 & 1 Tl 3 8k 10 7= A
o1 B1 14 A ¥ 1 H2 GHd &1 5 Afgansit ik 10 g= #) a8 $1d @1 A # fpa &
?

1.3
2. Can’t be determined/ﬁﬂfﬂﬁqﬁmww
3.7

4.5

Correct Answer :-

4) Four years ago, the ratio of the ages of A and B was 2:3 respectively and
after 4 years it will become 5:7 respectively. What is the present age of A?/
TR IY qd A 3R B F} 3T BT JUTd HHRT: 2:3 AT 3N 4 T q1¢ ST 3MMg BT U HH:
5:7 B ST A &) 9T S T 82

1. 36 years/ 36 a4
2. 37 years/ 37 ¥
3. 38 years/ 38 ¥

4. 35 years/35 @8

Correct Answer :-

. 36 years/ 36 a¥



The roots of the quadratic equation x2 - 24x + 144 = 0 are:/fguTa GHIHUr x2
-24x + 144 = 0 F AR

1.-6,-8
2.12, 12
3.-12,-12
4.6,8

Correct Answer :-

6) If the diameter of a sphere is decreased by 25%, its curved surface area
will be decreased by:/afe {6l M1 &1 ART 25% FH F fea1 T, df ST THYS
&Fwa H fra- ufa=ra &1 Ht smwett?

1.43.75%
2.44.25%
3.43.50%

4.43.25%

Correct Answer :-

e 43.75%

7) An isosceles right-angled triangle has an area 3200 cm2. What is the

length of its hypotenuse?/ T& JH®IU HIgaTg Y T &awa 3200 T2 g, ot
3 HUf B da18 T B

1. 80 cm/80 It
2.72 cm/72 qHt

e e
3. ol 2 cm/ Sﬂwzgjﬂ
e e
a. S04 2 cm/ S{szgjﬂ
Correct Answer :-

. 80V2 1y BOV2 gufy

8) A can write 75 pages in 25 hours. A and B together can write 135 pages in
27 hours. In what time can B write 42 pages?/ A, 25 HeH 75 q&sﬁ-mm%, A
3R B fira®v 27 6¢ ¥ 135 Uto forg a@d 81 B 3t 42 Uvo fora= # fapamm wwa avim?



1. 23 hours/23 °¢
2. 21 hours/21 He
3.17 hours/17 He

4.19 hours/19 ©c

Correct Answer :-

« 21 hours/21 ¢

9) The largest four digit number which is a perfect cube is: /TR 3P P! GaH
I3t I it for gui v 8

1.9261
2. None of these/SH I s gl
3. 8000
4. 9999

Correct Answer :-
« 9261

10) DIRECTIONS: What should come in place of the question mark (?) in the
following series?/fAdwr: Fafafad ot & uyares fog (2) & WM R Fa1 3T T1fge?

45, 60, ?, 96, 117, 140
1.86
2. 89
3. 80

4.77

Correct Answer :-

11) DIRECTIONS: What should come in place of the question mark (?) in the
following question? /3% fAfefad uea # uzars g (2) & WITH R 1 3T

q1fee?

72 10d 57 g2
15 2= 5416 = 15
1.8



3.7

4.6

Correct Answer :-

e 6

12) A boy goes to school at a speed of 3 kmph and returns to the village at a
speed of 2 kmph. If he takes total 5 hours, what is the distance between the

village and the school?/T® ds®1 3 fhHl/gver &Y nifa A faemery siar @ 8k 2 feely
HUET 1 T & T: 79 AT9RT 31 1T 3 1 9f 36 $d fAardR 5 9 @ d g, al 9 e faenea
& g @ g3 Famg|

1. 8 km/8 fadt
2. 4 km/4 ot
3.6 km/6 ol
4.2 km/2 fodit

Correct Answer :-

« 6 km/6 Tt

13) A motor car does a journey in 10 hours, the first half at 21 kmph and the
second half at 24 kmph. Find the distance./®I5 HieXs! 10 T & & I Tt
Hedt 81 ameht gt 21 et/ gver &Y i & ve v gt 24 fFd/gvar Ftafa d) g 7@
Hiforg|

1. 225 km/225 fot
2. 226 km/226 faut
3.228 km/228 fodt
4.224 km/224 fout

Correct Answer :-

. 224 km/224 foet

14) The mean of first ten prime numbers is:/ Y4H 10 3HTSY YT BT HIHA B:
1.13

2.12

3.12.9

4.14



Correct Answer :-

« 12.9

15) If the numerator of a fraction is increased by 50% and denominator is
El

decreased by 50% the resultant fraction is 7, What was the original
fraction?/ afe fadt fU= & i< BT 50% TSI ST TYUT 8 BT 50% YSTIT ST¢ df giomH
9

i 7 31 ga = s g
3

1.7

5
9

LA ka

4,10

16) Three numbers are in the ratio of 3 : 4 : 5 respectively and their LCM is
2,400. Their H.C.F. is: /A GSIC HHR: 3 : 4 : 5%&7111?[1?['?', dYT 391 d. 4. 2,400
21 3BT H. 9. 7:

1. 40
2.120
3.80

4. 200

Correct Answer :-

17) What is the difference between the S.I. on a principal of Rs.1000 being
calculated at 5% per annum for 3 years and on the same principal 4% per
annum for 4 years?/Hd4< 1000 ¥. BT 5% uﬁaﬁwﬁaﬁs aﬁ%ﬁmww
TSl TYUT I TAUT TR 4% Wfrad 1ol 5t g3 A 4 I & T ATLURUT SqTST BT 3iax T g2

1. Rs.10

2. Rs.30



3. Rs.40

4. Rs.20

Correct Answer :-

e Rs.10

18) How many percent of the profit earned on cost price is equal to the 30%
of the profit earned on selling price?/ %4 e R d1Y $T fra= ufazmd, fapg qea w®
30% WY & SRR 32

1.40.8%
2.50.5%
3. None of these/sﬁlﬁ‘@[aﬂ%:@'

4.55.7%

Correct Answer :-

« None of these/%ﬂﬁﬁaﬁs‘ﬂﬁ

19) Find the smallest of the following fractions./fAuferfad il # § 99 Bid
= g B3|

4
1.9

WO

2. 16

16

3. 25
25
4,49

Correct Answer :-

20) Find the largest of the following fractions./ﬁmﬁlﬁﬁﬁmaﬁﬁ-ﬁ
A B

E
1, 504

823
5. 695



256
3, 435

413
4. 825

Correct Answer :-



